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2. B¢ Aol PAE vheA L AL o= AYY7
® 350m? =35a @ 5.6km? = 5600 m?>

® 3700a = 3.7ha @ 17t = 1700 kg
(@)23000000 g =23t

~&B

@ 350m? = 3.5a

@ 5.6km? = 5600000 m?
@ 3700a = 37ha

@ 17t = 17000 kg
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7}, 79.36 x 0.1
1}, 7.936 x 100
t}. 793.6 x 0.1
2. 0.7936 x 10
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7} 79.36 x 0.1 = 7.936
L}, 7.936 x 100 = 793.6
t}. 793.6 x 0.1 = 79.36
2}, 0.7936 x 10 = 7.936
o|lBR Fo| &2 AL 7t} gyt




4. e ATEES] HolE oA L.

(ferelEe] Hol)
(o) + (x0T 22
= {(5.6) + (3.4)} x 3.8+ 2
=9x3.8+2

=17.1(cm?)
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Al +E 9, ©, Ot 5tH
@+0)+2=31-0+0 =62,
(©+©®)+2=45- 0O+ =90,
(©+@)+2=27T->0O+O =54
(BO+O©+®)x2 =62+ 90+ 54 = 206,
O+0O+© =103

© =103 - 62 = 41,

@ =103 -90 = 13,

© =103 - 54 =49




